Find tau

—

a :angle between PQS and P,
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Find solution
—7-7 1S back-to-back

1f
ﬁl T ﬁZ > ﬁcc

then
2 overlapped points

—2 possible solutions




Pt =(0,0, 1)
P7. = (sind,, 0, cos0,,)

p... :cone-cone angle



s = (sin 3, cos ¢, sin f3, sin ¢, cos f3,)

P :angle between ng and F; ”
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Find ¢ to find 2 solutions



s = (sin 3, cos ¢, sin f3,sin¢, cos f,)

P7. = (0,0, 1)

P.. =(smnd,.., 0, cosd..)
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2 solutions !!



GOOD solutions
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solution 1 1 hadronic / 1 leptonic
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solution I _________ both hadronic / both leptonic
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projection X (m_. > 240 GeV)

1 hadronic / 1 leptonic
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